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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Explain chain reaction in nuclear power station.
Write short note on electrostatic precipeter.

Draw line diagram of thermal power station and explain each part in
short.
Explain the factors to be considered for the selection of site for a thermal
power station.

OR
Enlist elements of hydro power station.
Draw plant layout of diesel power plant also state advantages and
disadvantages of diesel power plant.
Derive the equation for calculation of sag for equal level support.

OR
Explain base load and peak load stations.
One power station have maximum demand is 110MW.During a day
1056*1000 unit is generated.Station consist 3 unit of 40MW.Also spare
unit have a 40MW capacity.Now first 40MW unit run 24 hours,second
40MW unit run14 hours,third 40MW unit run 4 hours,so find that 1)Daily
load factor 2)Plant capacity factor 3)Utilization factor 4)Plant use factor.

Compare ac transmission system and dc transmission sytem.
Compare overhead system versus underground system.

OR
Explain with figure Brown Boveri voltage regulator.
Explain performance of alternator connected to infinite bus bar system.

Explain principal of MHD generator.

State advantages and limitation of MHD generators.
OR
Explain the importance and function of LDC.

Give classification of wind electric system.
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